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What do you understand by Normal Object?

e 3 S T o e £ .
What is called Very Short-term Market?

Uyd-3 W Ui IR R wed €2 ()
What is called Gross Domestic Product?

-4 W e (1}
What is ‘Stock’?

wWA-5 W s e FR-mAs I F@ g ? : (1]

Which bank issues currency notes in India?
-6 W@ R e ? (1]
What is Credit Money?

UvA-7  qdafs M § wEes 999 #1 Afusa 70 weard &2 (mn

What is the excess of public expenditure over public income called?

yya-8 T Wifcal w9 € ? (1]
What are Revenue Receipis?

wyA-9 O H faar e 6 8 e § dm s forfia [1+1+1=3]

Write three differences between expansion in demand and increase in demand.

q73-10 "Hﬁﬂfﬂﬁrﬁmmﬁ?mﬂwaﬁ%wﬁ

] T % ygfa
S £ )" fag Fifau o e o
“In Perfect Comﬁclilinn Mark )
arket, the tendency of one nrice .
commodity is prevailed Pro ency ol one price for one
¢,
qeA-11 UF <0 F W= f:'”“i‘ﬁ'smm . 3
What do you undersy; h )
nd by Uulinnry Resident of 3 country?
, TSR T TR F g ry:
A - "% 9 S e @ (3]
Public Goods should be Provi ! SOrEgy Hifau
= ‘.,\L‘d by the Government only. Why? Explain.
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gye-13 (A U T TG g H AW TR Fifay (Fv =) |

uyi-14

w9T-15

Explain the difference between Revenue Deficit and Fiscal Defidt

3erdr
OR

TR & W o 1 gis % sl #1 fafay (w8 =0 !

Write the causes of increasc of Public Expenditure in India (any ﬁ?""]'

=4
i i 7 feand fefay (7 @0 | prse =
Write the characteristics of Monopolistic Competition (any four).

Hyar

OR

TETFTE Td e B S T wifag (F W) |

Distinguish between Short Period and Long Period (any four).

aﬁﬁﬂmamaﬁmﬁmﬁmaﬂﬁq(aﬁi TR) |

(1+1+1+1=4)

Explain the interdependence of Micro- and Macro-economics (any four)

3rerar
OR

egfq;gmqmmﬂmamammwamﬁmm ‘
(@1 T | '

pistinguish between Centrally

Economy (any four).
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wyA-16 FAICTEd g9 | amg fafy & g wita ama @ o Fferg

[2+2=4]
w T (FNSFTAH )
(1) wenfedi = whafos 15,000
(i) TR 5,000
(iii) =™ 25,000
(iv) == 5,000
(v) aed 1,000
(vi) E’ﬁﬂiﬂﬁﬁ?ﬂﬂ 25,000
Calculate the National Income by the income method from the
following data : '
Items _ Expenditure
(in crorc rupees)
(/) Remuneration of employees 15.000
(if) Rent 5.000
(iii) Profit 25.000
(iv) Intcrest 5.000
) Depreciation
v o 1,000
i) Gross domestic inveg
' e 25,000
o —-.\-—
338 \
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g T (FAg FuA H)
"]
(i) & | 7ol 4,000
(i) T 700
(iii) o™ 1,300
(iv) =9 500 L
(vi) e o fafFm 1,500
(vif) 1% faeh fafram 1,000 ]
: th
Calculate the National Income by expenditure method from 1€
following data :
I[tems Expenditure
(in crorec rupeces)
(/) Salary and wages 4,000
(77) Rent 700
(1i7) Profit 1,300
(iv) Intcrest 500
(v) Consumption expenditure 4,000
(vi) Gross domestic investment
1,500

(vif) Net foreign invesiment

1,000
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What 1s Liquidity Loop? Explaiy with the help of diagram.

3rerar
OR

ﬁﬁ%ﬂm%ﬁqﬁ(aﬁgam| [1+1+I+1$4]

Write the importance of Banks (any four).

WA-18 T VR & W A 1 ¥ w91 fafaw (358 510 1 [1+]1+1+]1=4]
Write the sources of income from tax of State Government
(any four).
HEqr
OR

a71-19

wyi-20

ST YA T A T ¥ fog W g9 7 SEEa @i
B} 2 T

Why Government Budget is needed to run the economy smoothly?

Explain, hitps://www.cgboardonline.com )

mwﬁmﬁﬁmﬁmﬁﬂﬁm@mﬁﬁ

& T ¥ W HfA) [2+24276)
Explain the mutual relationship between Marginal Utility and Total

Utility with the help of table and diagram.

What is effecy of chanT Ty LIRS 2 2 rarfem ARG R E [

e | S ot .
with diagram, " Supply on equilibrium price? Explait
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(37) ofe ot 2;
(@) w2 &2 2+2+26)

How are equilibrium price and quantity affected, when a consumer’s

income-—

(a) increases;

(b) decreases? -

Wy-21 ﬁmﬁﬁaaﬁmﬂmﬁﬁ—faﬁaﬁﬁaﬁaﬁaﬁﬂ%?mm(aﬁrﬁ T |
[141+1+1+1+1=6]

For what purposes has the Reserve Bank been established? Explain (any six).

rerar
OR

51 ¥ Hrdl 1 fafae (i o) |

Write the functions of Money (any S&X).

wyA-22 gt 3 firer 3 ] €53 6 el e (1 81 | [1+1+1+1+141=6)
Write the causes of implementation of Law of Demand (any siv).
Jrerar
OR

Eq?iTﬁ;{ﬁrﬁlﬂﬂT&Hﬂﬂ%?mﬂaﬁiﬁﬁﬁawW‘ [14+5=6)

What is meant by Utility? Writ¢ any five characteristics of iy

-]q:ﬁif'/r —PTQ,
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w23 ﬂﬁi ﬁﬁwm(ﬁ g:) | [l-+-|+|+|’rl
Write the characteristics of Imperfect Competition Market (any six).
arerar
OR

TR Y U W Y § s we S (FE 5 |

Distinguish between Market Price and Normal Price (any Six).

qim & s wrawnfE T e ?

B fafy &
T e s [1+]1+1+1+1+1=6]

fafaa
i ' ' ome
What precautions should be taken while calculating National Inc

by Expenditure Method? Write.

3redr
OR

— e

I@ﬂmﬁ?qﬁﬁ'&ﬁmaﬂﬁ‘lfﬁ o)

Explain the importance of National Income (any six).
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